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QUESTION 1

Why can virus scanning software not run directly on the hypervisor? 

A. because the hypervisor is hidden software 

B. because the hypervisor only guests other operating systems 

C. because the hypervisor runs on a server 

D. because the hypervisor starts up before the virus scanning software 

Correct Answer: B 

 

QUESTION 2

What is a key advantage of a content management system? 

A. It distributes content to users. 

B. It is a management system for distributed computer environments. 

C. It provides the possibility to connect to multiple web-sites without using a password. 

D. It reduces repetitive duplicate input. 

Correct Answer: D 

 

QUESTION 3

Which language can be used for running programs on the client side during web access? 

A. HTML 

B. Java 

C. Javascript 

D. XML 

Correct Answer: C 

 

QUESTION 4

Why is the Elastic Compute Cloud (EC2) by Amazon a Public Cloud service? 

A. Amazon allows anyone with a credit card access to the service. 

B. Amazon sells books, DVD\\'s and electronic equipment. 
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C. Amazon monitors the servers 24 hours per day. 

D. Amazon is a company with publicly trade-able stocks. 

Correct Answer: A 

 

QUESTION 5

The Total Cost of Ownership (TCO) of a Cloud solution may change and in the worst case increase. How can this
happen? 

A. In certain cases the TCO is intentionally shortened by lack of vision on future developments. 

B. In certain cases the TCO is just not the right measure for calculating relevant costs and expenditures. 

C. In some cases customers have not acted upon a good business case. 

D. In some cases only the distribution of different components that add up to the TCO may change. 

Correct Answer: D 

EX0-116 PDF Dumps EX0-116 Study Guide EX0-116 Braindumps

Powered by TCPDF (www.tcpdf.org)

EX0-116 PDF Dumps | EX0-116 Study Guide | EX0-116 Braindumps                                3 / 3

https://www.leads4pass.com/ex0-116.html
https://www.leads4pass.com/ex0-116.html
https://www.leads4pass.com/ex0-116.html
http://www.tcpdf.org
https://www.leads4pass.com/ex0-116.html
https://www.leads4pass.com/ex0-116.html
https://www.leads4pass.com/ex0-116.html

